Transformers

Electricity Review
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Transformers

Transformers are used to change (transform) voltages from one

value to another value. They are used to either increase or

decrease voltages. i 'ZTRA,J SFORHER.
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Transformers

Principle Explanation:
e The alternating current (AC) in the primary coil produces a
changing magnetic field around that coil
[Oersted’s Principle]
;& e The changing magnetic field around the primary coil .

. induces a current in the secondary coil
. [Faraday’s Law]

*k if the coils have different number of turns in the coils the
voltage will be either increased or decreased.

Mathematically:
Energy cannot be created or destroyed. So the energy and

hence the power in each of the coils must be equal.
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1. A transform is made to convert 20 V AC to a higher voltage The current in the primary side was
found to be 6 A and on the secondary side itis 2 A. j
a) Calculate the secondary voltage as well as the secondary number of coils if there_ are 50 primary

coils. — STERUP TRANSFOIRHER —
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b) Calculate the power on both sides as well.
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